LENGTH OF SIDE

Pearson Edexcel - Tuesday 12 June 2018 - Paper 3 (Calculator) Higher Tier

1.
17 13.1 Pl for start of process to find the length of 8D,
o B0 _ 125
= sn34°  sinl09®
Pl for complete process to find the length of BD, Accept 7.4 for the award of the first two
eg BD = = x sin34° (= 7.39..)) P marks
sin109
Pl for process to find the length of AD,
eg AD' =114+ 7397 -2 % 1.4 %739 = cos86°
Pl for process to use correct order of operations,
eg 129.96 + 54.6(5..) — 1 1.7(5..) (= 172.85..)
Al for answer in the range 13.1 to 13.2 If an answer is given within the range

and then incorrectly rounded to 3 sig figs
award full marks.

Pearson Edexcel - Thursday 8 June 2017 - Paper 2 (Calculator) Higher Tier

2.
5 (a) 39 M1 8.1 54
for a ratio of — (=1.5) oe or — (=0.66_) oe
54 8.1
or 28 (=048.)oe or 3% (=2.07.) oe
54 26
Al cao
(b) 2.05 M1 fanx 6.15 0e (= 4.l}org ® 6.15 0e  or ft “scale factor” from (a)
Al cao

Pearson Edexcel - Tuesday 13 June 2017 - Paper 3 (Calculator) Higher Tier

3.
7 5.86 ML | for sin 23 =28
NB Allow an}' alternative equivalent method to form an equation in 4B
Al 58t059

Pearson Edexcel - Tuesday 13 June 2017 - Paper 3 (Calculator) Higher Tier

4.
8 559 Ml For use of @ = 49, where r is the radius or » = 3.9(49. ) or diameter = 7.8(9865._.)
MI For use of Pythagoras to set up an For use of trigonometry to set up an
equation in x* e.g. x” + x" = (d)* equation inx egsin45=x+d
ar ' =P+ F°

M1 (dep on M2) Rearrange to
(=) 2x“3949 "
Al 551056

Rearrange to (x=) *7.898.." = sin 45 oe

Pearson Edexcel - Specimen Papers Set 2 - Paper 2 (Calculator) Higher Tier

5.

17

v/ 8.35% — 6.05%

5.754997828 Bl

bounds

bounds
Al for5.754(997...)

for finding bounds of one measurement,8.25
8.35,6.050r6.15
P1  for process of choosing and using correct

Pl  for process of Pythagoras’ rule with correct




Pearson Edexcel - Specimen Papers Set 1 - Paper 2 (Calculator) Higher Tier

6.
Ty angle BAD — anle 338 Pl for recognition of similar triangles or-e;;].ual ratio of sides

DCA =22.62" OR for a method to find angle BAD or angle DBA and state that this is the same as
angle DBA = angle angle DCA or angle DAC
DAC=67.38° Pl for process to find CB, eg. ===

13~ cB

Al .
for an answer rounding to 33.8

Pearson Edexcel - Specimen Papers Set 1 - Paper 3 (Calculator) Higher Tier

7.

1.5%1.7-1.7 Or
0.5 x 1.7=(0.85)

0.664(09..)

Pl for finding the difference in height by ratio or multiplier
P1 for use of tan ratio

Pl (dep) for “0.85” = tan 52 oe

Al 0.664 to 0.6641

Pearson Edexcel - Sample Paper 2 - (Calculator) Higher Tier

8.
6 9.54 Pl 10— 52 (=75)
Pl “757 + 47 (=91)
Pl V(10— 5% +4%)

Al 9.53-9.54

Pearson Edexcel - Wednesday 4 November 2015 - Paper 1 (Non-Calculator) Higher Tier

9.

16

13.75

MI for finding perimeter of rectangle

eg. Sx+5+5x+5+d4x+4x (= 18 +10)

M1 for finding perimeter of trapezium e.g. 9x — 2 +
—4)

M1 for equation e.g. 26x — 4 = 18x + 10 (or 8x = 14)
Al for finding the value of x as 1.75

BI ft for subs of x into 5x + 5 and evaluated (=13.75)

Tx—2+ 10x (=26

Pearson Edexcel - Friday 6 November 2015 - Paper 2 (Calculator) Higher Tier

10.
*15 | (a) 1 C1 for a complete reason eg Angles in a semicircle are 90°, alternate
segment theorem
(b) 275 4 M1 for 7 = sin 35

M1 for 7 = sin 35 = 2
M1 (indep) for “DB"=< cos 70
Al1274-275

Pearson Edexcel - Friday 6 November 2015 - Paper 2 (Calculator) Higher Tier

11.

24

311

LA

1
M1 for 3 % 8.4 xxsin40 =100

M1 for 100-{0.5=8 4=sin 40) (=37.(041..))

M1 (dep on 1* M1) for substituting the appropriate figures into the
cosine rule  eg 8.4°+'37.04173-2=8 4="37.041 cosd0’

M1 (dep on previous M1) for correct order of evaluation or (¢*=)
965.(897...)

Al 31.07-31.1




Pearson Edexcel - Thursday 4 June 2015 - Paper 1 (Non-Calculator) Higher Tier

12.

5

M1 for a method to find volume of a cuboid, eg. 2 = 10 = 15 (= 300)
or 5= 5= x (=25x)

M1 (dep) for "300" = "25" oe

Al cao

OR
Ml for 10+5(=2)and 15+5(=3)or 10=5(=2)and 2 +5(=04)

M1 (dep) for 2 < “2" =« “3" or 15 = “2" = “0.4"
Al cao

Pearson Edexcel - Monday 8 June 2015 - Paper 2 (Calculator) Higher Tier

13.

19

=12 _g02
c tan 60 6.92(8...)

DE=6.92(...) * tan 30 = 4

CE=12+4

AC=-—2_=138(5..)
sine0

CE = 13:86-)
cos30

16 with supporting
working

M1 for a method to find BC or AC or AD

Bl for angle EAD = 30" or AED = 60° or ACD = 30" or CAD = 60°
M1 for a method to find CE

Al for 15.9-16.1 with supporting working

Pearson Edexcel - Friday 7 November 2014 - Paper 2 (Calculator) Higher Tier

14.

16

AC=5"+3
AC= /2549 (=5.83)

s _ DB

58 3

DB= > _x3(=257)
5.83

5+3+5.83+2.57=

OR

AC= ~[25+9 (=5.83)
tan 4 = %
5
4 =30.96
sin30.96 = %

DB =5 x sin30.96 (= 2.57)
5+3+5.B+257=

16.4

M1 for (AC7) = 5"+ 3 =34)
MI for 4/25+ 9 or 4/34 (=5.83)
M1 for 5 - ﬁorDBMF;ﬁx}
'5.83 3
5
'5.83"
Al for 16.4 to 16.41
OR
M1 for (AC)=5"+3" (=34)
M1 for 425+ 9 or 434 (=5.83)
M1 for using a correct trig ratio in an attempt to find angle 4 or angle
3

'5.83'

M1 for (DB =) x3

cos =

Coeg tand= é.sin.—!—' e
5 '5.83'

MI for using DB in a a correct trig ratio, e.g. sin*30.96" = %

Al for 16.4 to 16.41

Pearson Edexcel - Friday 7 November 2014 - Paper 2 (Calculator) Higher Tier

15.




21

8.52

S Mifor BR__ 74 o
sin45  sin80
M1 for (BD =)—-4

- xsind5(=5.3133..)

sin80

M1 for 5.87 + 5.31"7 - 2 % 5.8 x 531" cos100

M1 (dep) for correct order of evaluation or 72.5(73...)
Al for 8.51 - 8.52

OR
MI for 470:& oe

Sin(180_80—45) sin80
M1 for (4D =)—4

- %sin(180 - 80—45)(=6.15...)

sin80

MI for 74™+ (*6.15" + 5.8)’ —2 % 7.4 % (‘6.15" + 5.8) x cos45
M1 (dep) for correct order of evaluation or 72.5(7398...)

Al for 851 - 8.52

Pearson Edexcel - Friday 13 June 2014 - Paper 2 (Calculator) Higher Tier

16.
17 1.5 2
@ M1 for sight of 2 (=1.5) oe or E (=0.66..) oe or E (=0.83.) oe or
6 9 6
6
; (=1.2) oe or a ratio, eg 6:9 oe or decimal, eg 1.5 oe
Al cao
b 8 2 2
®) MIforlExEocorIE-'Eoc0r1—><50e
9 6 "7.5"
Al cao
Pearson Edexcel - Friday 8 November 2013 - Paper 2 (Calculator) Higher Tier
17.
2« "show’ 2
@ Lt M1 for %x[.\’—41—.‘c+5}x2_‘c or
2x x(x—4) + lx 2xx9
2
Al for completion with correct processes seen
(b) 13 3 =2 fiz _ s
MI for M condone incorrect sign for 351
2x2 =
MI for ~14++/2809
4
Al for 13
NB for either M mark accept + only in place of +
OR

M2 for (2x + 2T)x = 13)
(M1 for (2x£27)(x = 13))
Al for 13

Pearson Edexcel - Friday 8 November 2013 - Paper 2 (Calculator) Higher Tier

18.

24

14.4

e

MI form = 6.5° = 11.5 (=1526.42..)
'1526.42.."

=58
Al for 14.4 - 145

M1 (dep) for

OR

58 6.5
MI for — or ity or 0.89(23. ) or 1.12(06896...)
6.5 58

P 32 2
MI t’orll.5+tﬁj or 11.5xf£]
65 |58

Al for144-145

Pearson Edexcel - Friday 8 November 2013 - Paper 2 (Calculator) Higher Tier

19.




26

180-136-"34.4"

=9.504

L Jor

sinl _sin136
128 157

M1 for L= sin™ (%KIZSJ or 5in"0.566...

MI for

Al for344-345
. LN 157 LN 12.8
Ml for — =— or — =— or
sin(180-136—'34.4") sinl36 sin(180—-136-"34.4") sin'344"'
(UN?=) 15.7° + 12.8" - 2x15.7x12.8xcos(180 - 136 - '34.4"
Al for3.73-3.74

20.

Pearson Edexcel - Monday 4 March 2013 - Paper 2 (Calculator) Higher Tier

20

MI for 8°+8 —2x 8 x § = cos 140
M1 (dep) for correct order of evaluation or 226.(05...)
Al for answer in range 15.0 - 15.04

OR
. PR a8
MI lorm = W
M1 for PR= —r———— xsin 140
sinf (2272))

Al for answer in range 15.0- 15.04
OR
M1 for 8 = sin70 or § = cos20

MI for 2 = 8 = sm70 or 2 = 8 = cos 20
Al for answer in range 15.0 - 15.04

Pearson Edexcel - Monday 4 March 2013 - Paper 2 (Calculator) Higher Tier

21.

25

1+45

M1 for %f x % x = sin30° oe

M1 for i[.’c—Z](_‘(+ 1)oe or i X (x —2) % (x +1)xsin90

MI (dep on at least one previous M1) for formation of equation from
equating areas with x as the only variable

Alforx®—2x—4=0oeinthe formax +bx+c=0orax +bx=c¢

Al cao

Pearson Edexcel - Tuesday 6 November 2012 - Paper 1 (Non-Calculator) Higher Tier

22.

23

4 Bl .Ihr.id.enlifying A at.3 or D at 6 or A(3,0) 0f D[O 5] oeeg
may be seen as labels on the diagram

Ml for 0==x3+c

M1 (dep on previous M1) for 6 + *1.5°

Al cao

OR
Bl for identifying A at 3 or D at 6 or A(3, 0) or {0, 6) oe eg
may be seen as labels on the diagram

M1  for 3/6 = OP/3 or 1.5 oe seen (from similar triangles)
M1 foré+°1.5"
Al cao

OR

Bl foridentifying A at 3 or D at 6 or A(3, 0) or D(0, 6) oe eg
may be seen as labels on the diagram

MI  for (6+OP) = (6°+3%) + (3*+0F°) oe (from Pythagoras)
M1 foré6+°1.5"

Al cao




Pearson Edexcel - Thursday 8 November 2012 - Paper 2 (Calculator) Higher Tier

23.
15 9-3=6 12.0 M2 10°-(9-3) (=64)or BC=8
10°-6" =64 (MI  9-3 (= 6)may be seen on diagram)
BC=%8 M1 (indep) 9’ +'BC” where BC is a numerical

ACT=9" +8 =145

value

MI (dep on previous M1)+/81+'64"
Al 120-12.042

Pearson Edexcel - Thursday 8 November 2012 - Paper 2 (Calculator) Higher Tier

24,

17

§in60° =—— x =32xsin60(=27.712...
32

. x x 32
Ml sin60=— or — =— oe
32 sin60  sin90

Ml (x=)32xsmb0or(x=) % 8in 60

5in 90
Al 27.7-27.72

OR
x
M1 cos(90=60)= —
32

MI (x=)32 = cos(90 - 60)
Al 277-2172

Radians : = 9.7539398...

Gradians : 25 888554 ...

SC : B2 for an answer in the range
(=) 9.75to (—)9.754 or 25810259

Pearson Edexcel - Wednesday 13 June 2012 - Paper 2 (Calculator) Higher Tier

25.

18

BD+122= 16 oc
BD=+256- 144

(=10.58...)

MI for BD? + 122= 16 oc or 16 — 122 or 112 seen
MI for y256-144 or /112 (=10.58..)

'10.58' '10.58'

MI for sin 40 = orcos 30 =
cD

M1 for (CD =) 1058 or 10.56
sind( cos 30

Al for 164 -16.5

OR _ . o
M1 for BD* + 12" = 16" oe or 16" — 12% or 112 seen
MI for +/256—144 or 112 (=10.58.)

10.58'

M1 for (BC =) *10.58" = tan 50 or
tan 40

(=126...)

M1 for 4'12.6°+'10.58.."°
Al for 164165

Pearson Edexcel - Friday 2 March 2012 - Paper 3 (Non-Calculator) Higher Tier

26.




(a)

(b)

—=—ED=12
8
EXZS
5
OR
4:6=AC:CD

(25+(4+6))=4

all these written as ratios)
Al cao

M1 %)(25 oe

Al cao

OR
MI(25+(4+6))x4
Al cao

OR
MI for25+(1+ 1L.5)
Al cao

M1 for Ene or ine or Ene or ic:)e (accept
4 6 4 8

Pearson Edexcel - Monday 5 March 2012 - Paper 4 (Calculator) Higher Tier

27.

7

16— 82=192
192 = 13.85640646

13.86

M1 for showing the intention to square and subtract or

sight of 16*— 8% or 192
M1 for 4/256—64 or /192 or 83

Al for answer in range 13.85 to 13.86
OR

M2 for 16¢0s30 or 16sin60
(M1 for cos30 = % or sin60 = % )

Al for answer in the range 13.85 to 13.86

Pearson Edexcel - Monday 14 November 2011 - Paper 4 (Calculator) Higher Tier

28.

17

15+6
15

x12.5

17.5

3 DE 15+6 15 15+6
M1 for —= oe or or 0
125 15 15+6 15

5 2 5
—or —or —(ldor0d4or250r0.714..)
7 5 2

5
M1 for 13 6><12.5 nr% % 12.5 oe

2
or 125+ 3 %125 oe

Al cao

r

7
5

—=or

Pearson Edexcel - Monday 14 November 2011 - Paper 4 (Calculator) Higher Tier

29.




20

(a)

5in 62

9.06

M1 for sin62 = ior cos(90-62) =ior
PR FR

sin90 _ sin62
PR 8

M1 for (PR=)

oe

8 8
or ———
sin 62 cos(90 - 62)

or sin90 =

sin 62
Al for 9.06 - 9.061

SC: B2 for -10.82 to -10.83 using rad or 9.672 to 9.674
using grad

or
For methods involving trig or Pythagoras and then trig
or Pythag

No marks until a correct trig or pythag statement linking
SR =4.25(36...) and PR

For example

MI for (PR'=) 8" +4.25(36...)" or

4.25(36..)

PR
MI for /64 +18.0(9...) o

cos62 =

. 4.25(36...)
cos 62
Al 9.06-9.061

(b)

OR*= 14" +9.06" - 2. 14.9.06 cos62
=196 + 82.08 — 253 .68c0s62
=158.98....

12.6

B1 for angle QPR = 62°

MI for QR = 14"+ *9.06™" — 2x 14x79.06’x cos62
M1 for correct order of evaluation or 158.9...

Al (ft PR) for 12.6 - 12.62

or
For methods using trigonometry and Pythagoras

No marks until a correct Pythag statement with OR as
only unknown

(Let M be on PQ such that angle RMQ is 90°)

For example

B1 for angle QPR = 62°

Ml for (OR* =) 8" + (14 — PRcos62)’

MI for 4/64+'94.995.." or 158.9...

Al (ft PR) for 12.6 —12.62

SC: B3 for 10.3(5511) or 10.4 using rad or
11.6(402014) using grad

Pearson Edexcel - Friday 10 June 2011 - Paper 4 (Calculator) Higher Tier

30.
25 (a) BC=~82—3% = .f55 = 9.68 Ml for 8 -3 oe
a2 a
7.416198 .. Ml(dep) for ¥8 =37 or741... or 742
CD = 7.416... + sin 50° seen
= 0.6811.... Or
M1 for 4 =cos™ [é] (=67.98")
MIl(dep) for 3xtan'67.98"or 7.41... or 7.42
seen
Ml for *74.....7 < sin50
Al for 9.67—-9.69
SC B3 for -28.2 to -28.3 using rad or 10.4 —10.5
using grad
(b) | CE* =19"+9 68" ~2(19)(9.68) cos 40 13.1 M1 for (CE*=)
= 361+93.7024-367.84(0.766) 1924+ 4(9.68)2 = 2(19) *(9.68)" cos 40
= 172.920612 MI(dep) for correct order of evaluation to reach
CE = 13.1499... J'172.920612"

Al for 13.1-13.15

SC B2 26.4(5805...) or26.5 used radians
or 12.5(3449..)) used gradians

Pearson Edexcel - Friday 12 November 2010 - Paper 4 (Calculator) Higher Tier

31.




21 AB = 8 cos 37° = 8 (0.7986...) 6.39 3 AB

= 6.389... M1 for cos37 = ?

M1 for AB = 8 cos 37° or 6.4 seen (dep on 1%
M1)
A1 for 6.38 - 6.39
OR
M1 for _AB_ =—8

Sin53  Sin90
M1 for 4B = Soin33

Sin90

or 6.4seen (dep on 1% M1)
A1 for for 6.38 - 6.39

SC MZAO for 6.12 (radians) or 6.69 (grad)

Pearson Edexcel - Monday 7 June 2010 - Paper 3 (Non-Calculator) Higher Tier

32.
18 a 18 2
@) 12><E M1 forsightofﬁoeor icpe or Eo—ecnr ic:ec:ra
4 4 6 4 12
ratio eg. 6:4 oe or decimal eg. 1.5 oe
Al cao
(b) 4 10 2 4
15x— M1 for 15x— oe or x120e
6 6 "ngr
Al cao

Pearson Edexcel - Friday 11 June 2010 - Paper 4 (Calculator) Higher Tier
33.

20 8.48 3
cos 58° = 4—3 M1 for cos 58° = 4—3
16 16
M1 (dep) for 16 = cos 58°

AB = 16 x cos 58° = 8.4787 A1 for 8.47- 8.48
[SC:M2 AO for 1.9-1.91 [RAD] or 9.8-9.81 [GRAD]]

Pearson Edexcel - Tuesday 10 November 2009 - Paper 4 (Calculator) Higher Tier
34.

(3%

22 (a) 15 9 15 10 10 6
6x— M1 for sight of — or — or — or — oe seen
10 10 15 6 10

Al cao
NB ratios get M0 unless of the form [:n

(b) 10 8 2 ) 15 10 15 12
12 x—pe M1 for correct use of — or — or — or —
15 10 15 12 15
—_— 6
or or oe
6 ngn

Al for® or ft from 12x6+"9

OCR GSCE - Tuesday 3 November 2020 — Paper 4 (Calculator) Higher Tier
35.



14

15.6[1..] with correct working

S xsi
M2 for [sin B = ] 25172
18
o tin 7T
or M1 for :.mBzz.m'L
15 18

AND

M1 for 180 — 72 — their 52.4 implied by
55.6 or 55.57...

and
18 x sin their55.57...
Mz for [AB:] X sIn ! emradd oe
sin 72
or M1 for L] = 18 oe

sin their55.57... sin72

If 0 scored award SC2 for 15.6... with
insufficient working

Correct working requires evidence of
at least M1 AND M1

M2 implied by 0.7925... or 52.4...

Alternative cosine rule (AB = x)

M3 for quadratic equation with
coefficients evaluated

M2 for

x2 + (-2x15x%cos72)x + (15% — 182%)
[=0] oe or

M1 for 182 = x? + 152 - 2xxx15c0s72

AND
M2 for correct use of quadratic

formula or M1 for use of quadratic
formula with at most two errors

OCR GSCE — Thursday 8 November 2018 — Paper 5 (Non-Calculator) Higher Tier

36.
13 AC = 40sin30 [[F]
@ sin M1 for AC sin 30 oe
40
20 and evidence that sin 30=0.5 Al If 0 scored, B1 for sin 30 =0.5 oe
13 | (b) 5 B4 for 203 - 20 or /1200 -20 Other methods are possible e.g. Pythag

20(J§-1]

or B3 for v12000r 402’5

or M2 for 40cos30 oe

or M1 for cos 30 = %oe

e.g. M2 for [AB =]{/407 - 202

e.g. M1 for AB? + 207 = 407

OCR GSCE - Thursday 7 June 2018 — Paper S (Non - Calculator) Higher Tier

37.

11

B1 for cos 60 = 0.5 oe soi
M1 for %: cos 60 oe

A1 for [BD =] 6
AND

M2 for ,f]ﬂz — their BD?
or M1 for their BD* + AB® = 10° oe
or for 10° — their BD*

nfww - must check method before giving
6 marks must not come from wrong
working

eg.sin30=05
eqg. %: sin 30

For M2 or M1 0 < their BD < 10
and BD must be identified first on diagram
or in working

OCR GSCE — Tuesday 2 November 2017 — Paper 4 (Calculator) Higher Tier

38.




13.0... _ [..]
- sin7g

M1 for

oe or better

sintheiril

17 | (a) Attempt to use the cosine formula M1 Evidenced by the formulae.g. a*=b
+ ¢? -2bc cos A or better
[...r = M2
14" + 18% — 2 x 14 x 18 cos 46 oe
or or
cosine formula with at most 2 errors M1
or correct cosine formula starting cos
[ l - 147 +18°—[..]*
2x18x14
13.03... A1
(b) 354810 35.6 3 B1 for 180 — 78 — 81 or 21 could be on diagram

accept any correct method

OCR GSCE - Thursday 25 May 2017 — Paper 4 (Calculator) Higher Tier

39.

14

92 or 92.28 t0 92.6

M3 for correct explicit cos rule to find
angle A in ADE with cos as subject.

28" +41° -22°

[cos A =]
2x28x41

oe soi

or

M2 for correct implicit form of the cos
rule to find angéle A
227 = 287 + 417 - 2x28x41xcosA

or
M1 for either of the above forms with
only one error

AND

M2 for correct sine rule e.g.
64xsin72
sin theird

or

e soi

M1 for L = L oe
sintheird sin72

if 0 scored SC1 for explicit form of cos
rule to find angle D or E in ADE e.g.

28 +22° - 41

[cos D =]
2x28%x22

accept any correct method

implied by [A=] 30.3 to 30.4

AQA GSCE - Tuesday 19 May 2020 - Paper 1 (Non - Calculator) Higher Tier

40.




Alternative method 1

6.5=9 or 585 oe
or M1
6.5 =7 or 45.5
6.5«9-2x65 ar 58.5-13 oe
2 2 division may be implied
B.5=7 7 3.5
or 2 Midep | eg 5 = 455, ? = 22.25 scores M1M1
Dr_45.5
2

a1 3 oe
2275 or — or 22— Al

4 4
Alternative method 2
6.5=9 or 585 oe
or M1
6.5 x4.5 or 29.25
B.5x0 _&5 oe egB6.5=(45-1) or 65=35

M1d

or P
6.5x45-65
2275 or 2 or 223 a1 | %

4 4

Additional Guidance

Answer 228 or 23 with 22.75 in working

M1M1A1

Answer 228 or 23 without 22.75 in working

AD

AQA GSCE - Thursday 4 June 2020 - Paper 2 (Calculator) Higher Tier

41.




13

1 % (2.8+2.1) (x h) oe eg 2.1(h)+ 0.5(h) = 0.7
2 M1 any letter

or 2.45(h) may be implied

1 oe equation or calculation
z (28+21)x h=230.2

or

(28+21)xh=39.2x2

Midep

or

39.2 + 245
or

784 +49

16 Al SC1 8

Additional Guidance

Different letter used eg 2.1h + 0.5x = 0.7 is MO unless recovered

AQA GSCE - Thursday 4 June 2020 — Paper 2 (Calculator) Higher Tier

42,




Alternative method 1
tan 62 = & oe egtan (90 - 62) = >
5 hi
M1 h 5
or =
sinB2  sin28
any letter
5= tan 62 or 9.4(0..) g
oe e
. tan 28
Midep
or x 5in 62
sin28
gin x = their 9.4{0...) oe eq sin x = 5 tan 62
' 12 g=in- 12
ar Midep | of
sinx = [0.78, 0.784)] 122 Ctheiro4?
cosx= — — —
12
18
[51.536, 51.63] Al accept 52 with M3 seen
Alternative method 2
‘o5 3 2 oe
| ——| -5 or [88.4, 88.43] M1
| cos 62
5 2 oe
| | 5% or 9.4{0..) M1idep
| cos 62 )
gin y— [heir 9.4(0...) 127 “their0.4?
12 OE BQ COs XY = —
Midep
ar
sin x = [0.78, 0.784)]
[51.536, 51.63] Al accept 52 with M3 seen
Additional Guidance
Answer in range with truncation to 51 M1M1MIAT

AQA GSCE - Tuesday 21 May 2019 — Paper 1 (Non - Calculator) Higher Tier
43.



13

One of

{102 =) 100 M1

(8.14 =) 8

their 100 = 0.5 x x*  their 8 oe

ar must have used at least one comrect 1 sf
(o =) their 100 + 8 x 2 value
or

(2% =) 100 + their 8 x 2

ar Midep

25

or

their8 = 5 = 5= 0.5= 100

or

8= 5% 5= 0.5=their 100

5 with M2 seen Al

Additional Guidance

If working is done with approximations and with the given values ignore
the working with the given values and mark the working with

approximations

AQA GSCE — Monday 12 November 2018 — Paper 3 (Calculator) Higher Tier

44,
Alternative method 1
483 +2x3 or T2 M1 oe
their 72+ 2 or 36 » |"£"|
Midep | CO8 | q4q) OF 752
1417 - their 36 or 18 585 ft their base + 2
23 ) ) k
sin (their 75.2) = —
M1dep 141
h
or tan (their 75.2) =
t ) their 36
||-|4-|2 theirﬂﬁz or 18 585 M'Id&p 141 = sin (thair TS-E:I
or their 36 = tan (their 75.2)
[136.2, 136.4] or 136 Al

Continues on next page




Alternative method 2

141 = 3 or 47 M1 o

24 and their 47 = 2 _,|"E"|

cos |ggq ) Or 75.2
or 24 and 94 M1dep i
or 12 and their 47

ol 2
their 94° — 24° or B260 sin (their 76.2) = _ A _
eir
or +/B2e0
" 9y = h
or 90.88. . or tan (their 75.2) = EYY
M1dep

or their 47° = 12% or 2065

or +/2065
or 4544

23 cont

Irtheirgd-z 942 %3+ 9 their 94 = sin (their 75.2) = 3 + 2
or 24 = tan (their 75.2) = 3+ 2
or /8260 x 3+ 2

or 9088, =3+2

or ytheir 47 - 127 = 3
or +/2065 = 3

or 4544 =3

M1dep

[136.2, 136.35) or 136 A1

Additional Guidance

Walues may be seen on diagram in correct positions

AQA GSCE - Thursday 6 November 2017 — Paper 2 (Calculator) Higher Tier
45.
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Alternative method 1

Swxw or Sw’
or 1620+ 5 or 324

2
or trials a value of w for Sw

oe
M1 Any letter
eg 5x12 =12 or 50 = 10

15:0 or +/324

Midep

18

Al AD if -18 also given

Alternative method 2

! I® oe
l¥— aor —
3 ] Any letter
or 1620 x5 or 8100 M1
F4
or trials a value of { for ’E eg ;E‘D ar 80 x 16
J1620+5 or /8100 or 90 Midep

18 Al AQ if =18 also given

Additional Guidance
Answer 18 M2A1
18 in working with 90 on answer line M2AD
Trials for 5w’ or i without answer 18 M1MOAD

AQA GSCE - Sample Paper 3 (Calculator) Higher Tier

46.

15

65-23 or 42 and 5 or 85seen M1
sing=85-23 oe
AD
65-23
cos 85 = T or M1
2
(_5_5-2.3] +(6.5-4.2)
. tana
6.5-2.3 65-23 oe
ar or
sin 5 cos 8BS
M1dep
z
\ﬁ’a.a-z.a\f L (6542
|, tand
(48, 48.2) Ad




